AN(ZD2)

J XT3 ~F A B

Pk SN BEEZFVT, 49~68 DEN
FRIZOVTA)~DD ) bbb BY REZ EF—20EY, ABEROZTO2
(URZO)ICERA LR SV, BN, B2 EICsrhTnwT, £57T
20 TTo WTFNOMBES —EL2PM LN TEET A, METHIKRL
5, REBICMEERALLR SV, —HOMERRKIZH 10 Ty HEMTIC
ARERBEIWELED,

(A) Dialogs 1 ~10(49~58) TiZ, RFERT TV Y A0HLIZEMPHREZ T D
T, TR T HE LM LB 2 E TR S v,

Example Dialog

Dialog 1
49. (A)
(o)

Dialog 2
50. (A)
(C)

Dialog 3
51. (A)

Because she is always late.

Because the movie will start soon.

Because the busy roads may delay them.

Because the man will not wait any longer.

Tuesday.

Thursday.

Shop for paint.
Clean her desk.

One. (B) Two.

Wednesday.
Friday.

Look at curtains.

Buy a new desk.

Three. (D) Four.
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Dialog 4
52. (A
©)

Dialog 5

Dialog 6
54, (A)
(C)

Dialog 7
55. (A)

Dialog 8

Dialog 10
58. (A)

At 7:30 am.
At 4:00 pm.

Because of the scuba diving.

Because it's cheap.

On Monday.
On Wednesday.

20%.

10%. (B)

A convenience store.

A bakery shop.

In the front row.

In the tenth row.

$5. (B) $15.

(o)

(C)

At 9:00 am.
At 5:30 pm.

Because it's close.

Because of a music festival.

On Tuesday.
On Friday.

25%. (D) 30%.

A bookstore.
A hotel.

In the third row.

In the balcony.

$20. (D) $25.
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(B) Passages 1 ~ 4 (59~68) Tid, ¥EiEZMHWT, HIR S AEHMIIHT 5%
Ll Az 2RO B\, 723, Passage 1 & Passage 2 IZIZZ N ZTIVE
A5, Passage 3 & Passage 4 IZIZZ N FNEMAE=2H D 3. PIEIETD
D ERA

Passage 1

59. Why did John Bull decide not to become a head chef?
(A) He recognized that he was not a good manager.
(B) He realized that he didn't like cooking anymore.
(C) He made too many mistakes in the kitchen.
(D) He found it hard to develop his cooking skills.

60. Why did John Bull decide to write about food?
(A) Tt was a dream he’d had for years.
(B) He thought it would be easy.
(C) He'd had training as a journalist.

(D) A customer asked him to try.

Passage 2

61. Why does the man say that 18 is the worst age for people to start
voting?
(A) Because a lot of 18-year-olds have no knowledge of politics.
(B) Because most 18-year-olds are not interested in politics.
(C) Because few 18-year-olds have learned how to vote.
(D) Because many 18-year-olds don't live at home.

62. According to the man, why are some older people against giving
16-year-olds the right to vote?
(A) Because 16-year-olds don't have enough knowledge of politics.
(B) Because 16-year-olds don’'t pay any taxes.
(C) Because 16-year-olds may not vote in a predictable way.

(D) Because 16-year-olds are easily influenced by social media.
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Passage 3

63. Which of these countries has the cheapest university fees?
(A) France. (B) The United States.
(C) The United Kingdom. (D) Canada.
64. Which country is the most popular place for American students to
study abroad?
(A) Germany. (B) France.
(C) The United Kingdom. (D) Canada.
65. What is the main reason the man wants to study in Germany?
(A) Because he can study a foreign language there.
(B) Because he can travel around Europe while he is there.
(C) Because many universities teach courses in English there.
(D) Because it takes less time to graduate from university there.
Passage 4
66. What is the main reason that yoga has become so popular recently?
(A)  Because it is better exercise than aerobics.
(B) Because it doesn't cost much money to do it.
(C) Because the movements are simple to learn.
(D) Because it helps to reduce stress.
67. Which type of yoga is the most commonly practiced in the United
States?
(A) Hot yoga. (B) Slow voga. (C) Flow. (D) Power yoga.
68. Which type of yoga varies its routines the most?

(A) Hot yoga. (B) Slow yoga. (C) Flow. (D) Power yoga.
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